2 7 22
N=345
N 42 N=186 85.3 %
_ 414
L=1,583m N’\f‘lz 200
L=1,700m - L=788m H22 A=400 N=43
L=1,312 L=1,155m
H19 H24
B/C( )=23.34
2 4110 3060 2000 3550
N=10
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L=925
1=1,383 L=100m |L=110m L=675m
=600 =65 L=1,213m
L=560 200 L=330m
A=1,165 =405
H21 H25
B/C( )=13.66
1 7000 2500 2000 1 1500
N=2 N=2 2954
L=3,250 L=1,960
N=20 _ L=1,000m N=20
L=1300 [-F1290M L=330m L=100
L=100 L=1,232
H21 H25
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2 3900 3200 1 4100
22 22 7
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L=270 L=73 L 101 2 7 23
H18 H24 200 L 185
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B/C( )=10.97
1 7900 100 2000 2900




L=740 47.8 %
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=2,000 _ ~ L=270
N=14 N=9 C400
N=56 N=42
H21 H25
B/C( )=4.97
1 8400 200 1800 9600
22 22
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o =5 N=2
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! L=480m -
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2 2500 3200 1 5700
L=485
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L=1,960 .
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L=60 L=20
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H22 H26
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= L=154m

=730 =

_ =730

N=30 N=30

H22 H26

B/C( )=1.96
1 7000 900 4600 1 6100
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